This report contains the transfers results.

9,451

2,363

Contest Name

Ward 3 - Drum Brae-Gyle

Valid Votes

Positions to be Filled

Quota

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert Christopher ALDRIDGE	Scottish Liberal Democrats	3,988
Mark BROWN	Scottish Conservative and Unionist	1,047
Euan HYSLOP	Scottish National Party (SNP)	2,263
Eileen JOHNSTON	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	79
Nkechi OKORO	Labour and Co-operative Party	587
Anne SCOTT	Scottish Green Party	554
Gary SMITH	Scottish Libertarian Party	24
Edward John THORNLEY	Scottish Liberal Democrats	909
	Total	9,451

Candidate Robert Christopher ALDRIDGE Elected with 3,988 votes, being in excess of the quota of 2,363

This report contains the transfers results.

Stage 2 - Surplus of Robert Christopher ALDRIDGE

1,625.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark BROWN	455	0.40747	185.39885
Transfer to Euan HYSLOP	202	0.40747	82.30894
Transfer to Eileen JOHNSTON	21	0.40747	8.55687
Transfer to Nkechi OKORO	177	0.40747	72.12219
Transfer to Anne SCOTT	101	0.40747	41.15447
Transfer to Gary SMITH	12	0.40747	4.88964
Transfer to Edward John THORNLEY	2,859	0.40747	1,164.95673
No further preference	161	0.40747	65.60267
Not transferred due to rounding			0.00964
	Total		1,625.00000

This report contains the transfers results.

Stage 3 - Exclusion of Gary SMITH

Action	No. of Ballot Papers		Transfer Value	Votes Transferred
Transfer to Mark BROWN		2	1.00000	2.00000
Transfer to Euan HYSLOP		3	1.00000	3.00000
Transfer to Eileen JOHNSTON		6	1.00000	6.00000
Transfer to Nkechi OKORO		2	1.00000	2.00000
Transfer to Anne SCOTT		4	1.00000	4.00000
Transfer to Edward John THORNLEY		2	1.00000	2.00000
Transfer to Mark BROWN		1	0.40747	0.40747
Transfer to Euan HYSLOP		1	0.40747	0.40747
Transfer to Eileen JOHNSTON		1	0.40747	0.40747
Transfer to Edward John THORNLEY		7	0.40747	2.85229
No further preference		5	1.00000	5.00000
No further preference		2	0.40747	0.81494
Not transferred due to rounding				0.00000
	Total			28.88964

This report contains the transfers results.

Stage 4 - Exclusion of Eileen JOHNSTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark BROWN	30	1.00000	30.00000
Transfer to Euan HYSLOP	6	1.00000	6.00000
Transfer to Nkechi OKORO	9	1.00000	9.00000
Transfer to Anne SCOTT	15	1.00000	15.00000
Transfer to Edward John THORNLEY	7	1.00000	7.00000
Transfer to Mark BROWN	3	0.40747	1.22241
Transfer to Euan HYSLOP	1	0.40747	0.40747
Transfer to Nkechi OKORO	3	0.40747	1.22241
Transfer to Anne SCOTT	4	0.40747	1.62988
Transfer to Edward John THORNLEY	9	0.40747	3.66723
No further preference	18	1.00000	18.00000
No further preference	2	0.40747	0.81494
Not transferred due to rounding			0.00000
	Total		93.96434

This report contains the transfers results.

Stage 5 - Exclusion of Anne SCOTT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark BROWN	14	1.00000	14.00000
Transfer to Euan HYSLOP	292	1.00000	292.00000
Transfer to Nkechi OKORO	97	1.00000	97.00000
Transfer to Edward John THORNLEY	106	1.00000	106.00000
Transfer to Mark BROWN	7	0.40747	2.85229
Transfer to Euan HYSLOP	19	0.40747	7.74193
Transfer to Nkechi OKORO	10	0.40747	4.07470
Transfer to Edward John THORNLEY	43	0.40747	17.52121
No further preference	64	1.00000	64.00000
No further preference	26	0.40747	10.59422
Not transferred due to rounding			0.00000
	Total		615.78435

This report contains the transfers results.

Stage 6 - Surplus of Euan HYSLOP

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark BROWN	120	0.10993	13.19160
Transfer to Nkechi OKORO	793	0.10993	87.17449
Transfer to Edward John THORNLEY	429	0.10993	47.15997
Transfer to Mark BROWN	17	0.04479	0.76143
Transfer to Nkechi OKORO	45	0.04479	2.01555
Transfer to Edward John THORNLEY	80	0.04479	3.58320
No further preference	1,222	0.10993	134.33446
No further preference	81	0.04479	3.62799
Not transferred due to rounding			0.01712
	Total		291.86581

This report contains the transfers results.

Stage 7 - Exclusion of Nkechi OKORO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark BROWN	76	1.00000	76.00000
Transfer to Edward John THORNLEY	242	1.00000	242.00000
Transfer to Mark BROWN	24	0.40747	9.77928
Transfer to Edward John THORNLEY	110	0.40747	44.82170
Transfer to Mark BROWN	47	0.10993	5.16671
Transfer to Edward John THORNLEY	248	0.10993	27.26264
Transfer to Mark BROWN	2	0.04479	0.08958
Transfer to Edward John THORNLEY	16	0.04479	0.71664
No further preference	377	1.00000	377.00000
No further preference	56	0.40747	22.81832
No further preference	498	0.10993	54.74514
No further preference	27	0.04479	1.20933
Not transferred due to rounding			0.00000
	Total		861.60934